
DEFENSIVE AND COMETITIVE BIDDING

OVERCALLS(Style; Responses; 1/2level; Reopening)

6-17 4+ cards at one level, 6-17 5+ cards at 2 level.

Responses to overcalss non-forcing Suit

Cue-bid is invitational + showing fit NT Country: Turkey

Mix raises 8-10 with 4 cards fit  preemptive 3-7 with 4+ cards Subseq Event: Open (Open/Women/Senior/Transnational)

2 NT is fit + invitational. Other: Players: Ömer UMUR Enver Köksoy

1NT OVERCALL (2nd/4th Live; Responses; Reopening)

15-17 Natural Lead

Respenses as we opened. Ace 2/1 Game Force  15-17 NT

King

Queen

Jack

JUMP OVERCALLS(Style; Responses; Unusual NT) 10

1-Suit: weak 9  1NT Openings: 15-17 balanced17 Balance may have singleton Honour card

2-Suit: usually offensive values and light opening + Hi-x  2 OVER 1 Responses:

Lo-x

Reopening:

DIRECT and JUMP CUE BIDS ( Style; Responses; Reopening)

3 Cl = Higher suits Suit:1st

2 NT = lower suits 2nd

Cue-bid others or majors 3rd

NT: 1st

VS. NT(vs. Strong/Weak; Reopening;PH) 2nd

Dbl = 4 cards major + 5 cards major or 15+ with 5+ cards or 18+ balance3rd

2 CL Majors    2 D = One major bad hand, 2 H  / 2 SP = Natural constructiveSignals (including Trumps): In Smith position high encouraging

2 NT = Clubs or Club + suit

3 Cl = Diamonds or D + suit

3 D = Hearts 

3 H = Spades    3 SP = Majors Highly distributional

VS.PREEMPTS( Doubles; Cue-bids; Jumps; NT bids) Standart doubles, standardt responses

Leaping Michaels, 4 CL = Club + Major, 4 D = D + Major 

against 2 or 3 level major openings

Cue-bid = Minors

VS. ARTIFICIAL STRONG OPENINGS

Against opponent's 2 NT, strong 2 Cl, strong 1 CL openings we bid same

as in 1 NT intereference

OVER OPPONENTS' TAKE OUT DOUBLE

xx 10+ Redbl offering penalty chances

New suit 5+ cards    we play transfers after 1 CL x

Psychics:

RT9 QT9 T9 etc

second forth

3-5 Leads

AK ….Axxxx

KQxxx

QJx

KJTxx JTxx

 SPECIAL BIDS THAT MAY REQUIRE DEFENCE

EBL Convention Card

Category i.e. Green / Blue / Red / HUM / Brown Sticker:

LEADS AND SIGNALS 

Vs.Suit

OPENING LEADS STYLE 

LEADS 

Vs. NT

After 1 Cl opening transfer responses are applied 

2 H 2 Sp 8-11 Constructive 

2 D Multi (19-21 with 5 cards major balance) or 3-7 6 cards major

second forth

AKx   AKxx    Aqx

 SYSTEM SUMMARY

 GENERAL APPROACH AND STYLE 

 Lead

3-5Leads

2-4 Leads

in Partner's Suit 

3-5Leads

2-4 Leads

rare

Count

Strong, wants deblocking

QJT KQxx etc

AJT RJT JT  etc

RT9 QT9 T9 AT9 etc

3-5 Leads

Partner's Lead Discarding 

SIGNALS IN ORDER OF PRIORITY 

Declarer's Lead

Standart count

Count

High Encouraging Low Discouraging

same

High Encouraging

DOUBLES

2 D Multi

Standart count

Responses to 4 NT we don't give voids as aces but then if partner bids 5 we may bid 6 if we like.

IMPORTANT NOTES THAT DON'T FIT ELSEWHERE

After 3 Major bids 4 Cl is major fit 12+ HCP

TAKEOUT DOUBLES(Style;Responses;Reopening) 

 SPECIAL FORCING PASS SEQUENCES

Lightner doubles against slam contracts,  sometimes in game contracts

SPECIAL,ARTIFICIAL AND COMPETITIVE DOUBLES/REDOUBLES 

We play very standsdt carding an count. 

Count

Suit preference

Standart count

same



OPEN

TICK 

IF 

ART.

MIN NO. 

OF 

CARDS

NEG. 

DBL. 

THRU

DESCRIPTION RESPONSES SUBSEQUENT AUCTION
COMPETITIVE & PASSED HAND 

BIDDING

1 } 2 4 SP 2 Cards only if 4-4-3-2 or 18-19 Bal. Withot 5 card majors 1 D = H, 1 H = S, 1 S = D or bal. , 1 NT = Natural 6+11 HCP 1 CL - 1 D / 1 H - 1 NT = 18-19 HCP

2 CL = Game force clubs, 2 D = invit. Clubs, 1 CL - 1 D - 1 H 12-1 bal., 2 or 3 cards

2 H = 5+ Spades + 4+ hearts 5-8 HCP 1 CL - 1 H - 1S = same

2 S = 5+ Spades + 4 Cards Hearts 9-11 HCP 1 CL-1 x-2 NT - transfer responses

2 NT = Natural, 3 CL/D/H/S = 3-7 HCP Natural 2 way checkback, XYZ convent.

1{ 4 4 SP Natural 4+ cards
Natural Responses at 1 level , 2 CL/D Game force, 2 H/S same as 1 CL 

opening

Natural responses after then XYZ 2 way 

checkback 3rd 4th Forcing

1] / [ 5 4 SP Natural 5+ cards
1 NT = 5-11 HCP, 2 CL = GF may have singleton club, 2H/S = GF 5+ 

cards
1 H - 2 NT -  3CL asking 2 Cl Drury 

3 M = 3-7 HCP 4+ fit, 4 M = construct, 3 NT = 12-14 bal. With fit 1 M- 2 CL-2 M-2NT = asking singleton

suits at 3 level = invit., 2 NT = fit invit., 4 level bids splinter 11-13 HCP.
when GF + 3 level fit = seriıous/nonserious 

convention

1 M-1NT = 5-11, 1M-2M= 5-11

1 M-3M = 3-7, 1M-4M=construct., 1M-

3NT=12-14 bal.

1 NT 1 4 SP 14+ 17 bal. Hands may have singleton H, 5 Cards Major, 6 cards Minor Stayman, jacoby transfer, 2 S = limit asking, 2 NT = D or mins.Taking Jacoby transfers 2 NT=3card fit, 3 M=4 card fir good hand

3 CL asking 5 card major, 3D = 5+5 mins GF, 3 H/S singleton with mins.
1 NT-2 CL- 2x-3min = slamish, smallen, 

SAS xfers

2 } x 0 4 SP Game force any hand
2 D = 5+ waiting bid, 2 H = 0-4 HCP waiting, 2 S, 2 NT (H), 3CL, 3D 

natural good 5+ cards

3 H/S = semi solid suit construc. 3 NT=weak 7 cards M (0-4 HCP)

2 { x 0 4 SP Multi including 19-21 with 5 cards M bal. Or 1 M 3-8 HCP 2 H /3 H/ 4H = pass or correct, 2 SP = Pass or 3 CL

2 NT = asking GF, 3 D = invit. 3 CL = GF I have my own suit

2 ] 6 Constructive 8-11 New suit F1, 2 NT asking singleton, 3 M / 54 M = to play

2 [ 6 Constructive 8-11 New suit F1, 2 NT asking singleton, 3 M / 54 M = to play

2 NT 1 4 SP 20-22 HCP without 5 cards M 3 CL = Stayman, 3 H/S Jacoby, 3 SP = minor stayman

4 CL/D Natural , slam invit., 4 H (Cl) / 4 S (D) Grandslam invit.

3 } 6 Natural 7-10 3 D = Puppet, to 3 H,  3 H /Sp = F1

3 { 6 Natural 7-10 3 H/S = F1

3 ] 6 Natural 7-10 4 CL = fit + 12 + HCP, 3 SP / 4D = F1

3 [ 6 Natural 7-10 4 CL = fit + 12+ HCP, 4 D/H Natural

3 NT Solid minor may have values in 3rd or 4th position 4 CL/ 5CL = pass or correct, 4 D asking singleton

4 } 7 Natural 7-10

4 { 7 Natural 7-10

4] 7 Natural 7-10

4[ 7 Natural 7-10

4NT x Asking aces 5 Cl = No aces, 5 D/ 5 H / 5 Sp / 5 NT (CL) aces

5} 8 Natural 7-10

5 { 8 Natural 7-10

5 ]

5 [

5NT

High Level Bidding

Voidwood Responses Step 1=0, Step 2=1 Step 3=1+ Q Step4=2 Step 5=2+Q

Void responses=5 NT 2, 6 CL = 2+Q, 6 D = 3, 6H=3+Q

Blue cue-bids

Usually we use last train options not necessarily control in the suit we bid.

Forcing passes: If we agreed as GF before

4 NT responses 1430 

With 0 one 1 Ace we don't give our void Then bid 6 with 1 Ace 
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	KooksoyUmurConvent.pdf

